



TITLE:

# A Note on an Existence of Conditionally Periodic Oscillation in a one-dimensional Anharmonic Lattice

AUTHOR(S):

NISHIDA, Takaaki

---

CITATION:

NISHIDA, Takaaki. A Note on an Existence of Conditionally Periodic Oscillation in a one-dimensional Anharmonic Lattice. *Memoirs of the Faculty of Engineering, Kyoto University* 1971, 33(1): 27-34

ISSUE DATE:

1971-03-31

URL:

<http://hdl.handle.net/2433/280840>

RIGHT:

# A Note on an Existence of Conditionally Periodic Oscillation in a one-dimensional Anharmonic Lattice

By

Takaaki NISHIDA\*

(Received September 10, 1970)

The oscillations of a one-dimensional anharmonic lattice is investigated sufficiently near the equilibrium state, which is described by the equation

$$d^2 y_i / dt^2 = y_{i+1} - 2y_i + y_{i-1} + \alpha \{ (y_{i+1} - y_i)^3 - (y_i - y_{i-1})^3 \}, \quad -\infty < t < +\infty,$$

where  $i=1, 2, \dots, n$ ,  $\alpha = \text{constant}$ , boundary conditions are  $y_0 = y_{n+1} = 0$  and initial conditions  $y_i(0)$ ,  $dy_i(0)/dt$  are given. A large part of the oscillations starting from initial data sufficiently near the origin of the phase space of the system is proved to be a conditionally periodic motion under the incommensurable condition on linear frequencies mentioned later.

## 1. Introduction

In 1955 Fermi, Pasta and Ulam 1) experimented numerically as an example of one-dimensional anharmonic lattices the system of ordinary differential equations:

$$(1) \quad \ddot{y}_i = y_{i+1} - 2y_i + y_{i-1} + \alpha \{ (y_{i+1} - y_i)^p - (y_i - y_{i-1})^p \},$$

for  $-\infty < t < +\infty$ ,  $i=1, 2, \dots, N-1$ ,  $y_0 = y_N = 0$ ,  $y_i(0)$ ,  $\dot{y}_i(0)$ : given,

where  $p=2$  or  $3$ ,  $N=16, 32$  or  $64$ ,  $\alpha=1/4$  or  $1$ .

First they expected that the anharmonicity of the system would cause the equipartition of energy among all the  $N-1$  modes of the system, but they obtained "recurrences" to the initial data. On the other hand in 1954 Kolomgorov 2) proved that the large part of conditionally periodic motions of the dynamical system is conserved by the small perturbation of the Hamiltonian under some assumptions on the Hamiltonian. Then Arnol'd 3) and Moser 4) improved the result so that in the case of oscillations (a limiting degenerate case) analogous results near the equilibrium point hold under some improved assumptions. Here we consider the system (1) with  $p=3$  and arbitrary  $N$ . We show that if  $n$ -frequencies of the linear system (1) with  $\alpha=0$  are incommensurable in the later-mentioned sense, then the large part of the oscillations starting from initial data sufficiently near the origin of

---

\* Department of Applied Mathematics and Physics

the phase space (the equilibrium state) of the system is conditionally periodic. The proof is composed of the reduction of the system into the normal form by Birkhoff's transformation 5) and the check of the condition assumed in Kolmogorov-Arnol'd-Moser's theorem. About the large nonlinearity of analogous anharmonic lattices and the equipartition of energy there is the paper 6), numerical approaches 7), 8), 9) and papers referred to in them.

## 2. A reduction of the system by normal modes to a canonical form

We consider the system (1) with  $p=3$ .

$$(2) \quad \ddot{y}_i = y_{i+1} - 2y_i + y_{i-1} + 2\alpha\{(y_{i+1} - y_i)^3 - (y_i - y_{i-1})^3\}; t \geq 0, \\ i = 1, 2, \dots, N-1 \equiv n, \quad y_0 = y_N = 0, \quad y_i(0), \dot{y}_i(0); \text{ given.}$$

The system (2) has the solution  $\{y_i(t)\}_{i=1, \dots, n}$ , in  $t \geq 0$  for all initial data. The total energy has the form:

$$(3) \quad E = \frac{1}{2} \sum_{i=0}^n \{\dot{y}_i^2 + (y_{i+1} - y_i)^2 + \alpha(y_{i+1} - y_i)^4\}.$$

In order to obtain the Hamiltonian of (2) with respect to normal modes we substitute the expression  $y_i = \sqrt{\frac{2}{N}} \sum_{k=1}^n a_k(t) \sin kih$ ,  $h = \frac{\pi}{N}$  into (3).

We arrive at the following:

$$(4) \quad \begin{aligned} \frac{1}{2} \sum_{i=0}^n \dot{y}_i^2 &= \frac{1}{4} \sum_{i=0}^{2n+1} \dot{y}_i^2 = \frac{1}{2} \sum_{k=1}^n \dot{a}_k^2, \\ \frac{1}{2} \sum_{i=0}^n (y_{i+1} - y_i)^2 &= \frac{1}{4} \sum_{i=0}^{2n+1} (y_{i+1} - y_i)^2 = \frac{1}{2} \sum_{k=1}^n 2(1 - \cos kh) a_k^2, \\ \frac{\alpha}{2} \sum_{i=0}^n (y_{i+1} - y_i)^4 &= \frac{\alpha}{4N} \left\{ \sum_{k+l+m+j=2(n+1)} a_k a_l a_m a_j \cdot \right. \\ &\quad \cdot (\beta_k \beta_l \beta_m \beta_j - 6\alpha_k \alpha_l \beta_m \beta_j + \alpha_k \alpha_l \alpha_m \alpha_j) + \\ &\quad + 4 \sum_{k+l=m+j} a_k a_l a_m a_j (\beta_k \beta_l \beta_m \beta_j + 3\beta_k \beta_l \alpha_m \alpha_j - 3\alpha_k \alpha_l \beta_m \beta_j - \alpha_k \alpha_l \alpha_m \alpha_j) + \\ &\quad + 4 \sum_{k+l+m=j+2(n+1)} a_k a_l a_m a_j (\beta_k \beta_l \beta_m \beta_j + 3\beta_k \beta_l \alpha_m \alpha_j - 3\alpha_k \alpha_l \beta_m \beta_j - \alpha_k \alpha_l \alpha_m \alpha_j) + \\ &\quad \left. + 3 \sum_{k+l=m+j} a_k \alpha_l a_m a_j (\beta_k \beta_l \beta_m \beta_j - 2\beta_k \beta_l \alpha_m \alpha_j + 4\beta_k \alpha_l \beta_m \alpha_j + \alpha_k \alpha_l \alpha_m \alpha_j) \right\}, \end{aligned}$$

where  $1 \leq k, l, m, j \leq n$ ,  $\alpha_k = \cos kh - 1$ ,  $\beta_k = \sin kh$ .

Then  $H(\dot{a}, a) = E(\dot{y}, y) \Big|_{y, \dot{y} \rightarrow a, \dot{a}}$

$$= \frac{1}{2} \left\{ \sum_{k=1}^n \dot{a}_k^2 + (-2\alpha_k) a_k^2 + \frac{\alpha}{2N} \sum_{(k, l, m, j)} (\dots) a_k a_l a_m a_j \right\},$$

where in the last term the summations and coefficients are the same as those in (4). Putting  $p_k = \dot{a}_k/\sqrt{\lambda_k}$ ,  $q_k = \sqrt{\lambda_k}a_k$ ,  $\lambda_k = \sqrt{-2\alpha_k}$  gives the Hamiltonian with respect to variables  $p, q$ :

$$(5) \quad H(p, q) = \frac{1}{2} \left\{ \sum_{k=1}^n \lambda_k (p_k^2 + q_k^2) + \frac{\alpha}{2N} \sum_{(k,l,m,j)} (\dots) q_k q_l q_m q_j / \sqrt{\lambda_k \lambda_l \lambda_m \lambda_j} \right\},$$

where also the abbreviation of summations and coefficients is used.

### 3. Birkhoff's transformation

First by introduction of conjugate variables  $\xi = (\xi_1, \dots, \xi_n)$ ,  $\eta = (\eta_1, \dots, \eta_n)$  such that  $\xi_k = \frac{1-i}{2} (p_k - iq_k)$ ,  $\eta_k = \frac{1-i}{2} (p_k + iq_k)$ , ( $k=1, \dots, n$ ;  $i = \sqrt{-1}$ ) we get the following:

$$H(\xi, \eta) = H(p, q) \Big|_{p, q \rightarrow \xi, \eta} \equiv H_2 + H_4,$$

where  $H_2(\xi, \eta) = \sum_{k=1}^n (i\lambda_k) \xi_k \eta_k$ ,

$$(6) \quad H_4(\xi, \eta) = -\frac{\alpha}{16N} \sum_{(k,l,m,j)} (\xi_k - \eta_k)(\xi_l - \eta_l)(\xi_m - \eta_m)(\xi_j - \eta_j) \cdot (\dots) / \sqrt{\lambda_k \lambda_l \lambda_m \lambda_j},$$

and the abbreviation of summations and coefficients is the same as above.

Now we remember Birkhoff's transformation that normalizes the fourth degree term  $H_4$ ; we apply to  $H$  a transformation

$$\xi_j = \bar{p}_j + \partial K / \partial \eta_j, \quad \bar{q}_j = \eta_j + \partial K / \partial \bar{p}_j, \quad (j=1, \dots, n),$$

where  $K = \sum_{k_1 + \dots + k_n + l_1 + \dots + l_n = 4} a_{k_1 \dots k_n l_1 \dots l_n} \bar{p}_1^{k_1} \dots \bar{p}_n^{k_n} \eta_1^{l_1} \dots \eta_n^{l_n}$ ,  
 $k_j, l_j = 0, 1, \dots, 4$ ,  $a_{k_1 \dots k_n l_1 \dots l_n} = \text{constant}$ .

If we solve explicitly for  $\xi, \eta$  in terms of  $\bar{p}, \bar{q}$ , we obtain

$$\xi_j = \bar{p}_j + \partial K^* / \partial \bar{q}_j + \dots, \quad \eta_j = \bar{q}_j - \partial K^* / \partial \bar{p}_j + \dots \quad (j=1, \dots, n),$$

where  $K^*$  denotes the function obtained by replacing  $\eta$  by  $\bar{q}$  in  $K$  and the power series converge in a neighbourhood of the origin. The modified value of  $H$ , obtained by substitution is

$$H(\bar{p}, \bar{q}) = H_2(\bar{p}_1 + \partial K^* / \partial \bar{q}_1 + \dots, \dots, \bar{q}_n - \partial K^* / \partial \bar{p}_n + \dots) + H_4,$$

where the arguments of  $H_4$  are the same as those of  $H_2$ . To terms of the fourth degree inclusive we find

$$H(\bar{p}, \bar{q}) = \sum_{j=1}^n i\lambda_j \bar{p}_j \bar{q}_j + \sum_{j=1}^n i\lambda_j \left( \bar{q}_j \frac{\partial K^*}{\partial \bar{q}_j} - \bar{p}_j \frac{\partial K^*}{\partial \bar{p}_j} \right) + H_4(\bar{p}_1, \dots, \bar{q}_n) + \\ + \text{higher degree terms} \equiv H_2(\bar{p}, \bar{q}) + \bar{H}_4(\bar{p}, \bar{q}) + \tilde{H}(\bar{p}, \bar{q}).$$

Thus the forms of  $H_2$  is unmodified while  $\bar{H}_4$  takes the form

$$\sum_{j=1}^n i\lambda_j (\bar{q}_j \cdot \partial K^* / \partial \bar{q}_j - \bar{p}_j \cdot \partial K^* / \partial \bar{p}_j) + H_4(\bar{p}_1, \dots, \bar{q}_n) = \\ = \sum_{k_1 + \dots + l_n = 4} [a_{k_1 \dots l_n} \{ \sum_{j=1}^n i\lambda_j (l_j - k_j) \}] + h_{k_1 \dots k_n l_1 \dots l_n} \bar{p}_1^{k_1} \dots \bar{p}_n^{k_n} \bar{q}_1^{l_1} \dots \bar{q}_n^{l_n},$$

where  $h_{k_1 \dots k_n l_1 \dots l_n}$  is the coefficient analogous to  $a_{k_1 \dots k_n l_1 \dots l_n}$  in the original  $H_4$ . Here we assume\* an incommensurable condition of  $\lambda_j$  ( $n$  frequencies of linear system (2) with  $\alpha=0$ ), that is,

$$\sum_{j=1}^n \lambda_j (l_j - k_j) \neq 0 \quad \text{for } l_j, k_j = 0, 1, \dots, 4, \quad \sum_{j=1}^n (k_j + l_j) = 4 \quad \text{and} \quad \sum_{j=1}^n |l_j - k_j| \neq 0.$$

Therefore if we take the coefficients  $a_{k_1 \dots k_n l_1 \dots l_n}$  appropriately, we can eliminate the terms of  $\bar{H}_4$  except those of the forms

$$(7) \quad \lambda_{kk} (\bar{p}_k \bar{q}_k)^2, \quad \lambda_{kl} \bar{p}_k \bar{q}_k \bar{p}_l \bar{q}_l \quad (k, l = 1, \dots, n).$$

Then it is sufficient for the explicit expression of  $\bar{H}_4(\bar{p}, \bar{q})$  to calculate in (6) the coefficients of  $\xi_k \eta_l \xi_m \eta_j$  that are the same as those of the terms (7) in  $\bar{H}_4$ . Thus we consider the four terms in (6) separately, each of which contains the summation with respect to indexes  $k, l, m, j$  in (4). Since out of the product  $(\xi_k - \eta_k) (\xi_l - \eta_l) (\xi_m - \eta_m) (\xi_j - \eta_j)$ , at most, the following terms are possible not to vanish in  $\bar{H}_4$ :  $\xi_k \xi_l \eta_m \eta_j + \xi_k \eta_l \xi_m \eta_j + \xi_k \eta_l \eta_m \xi_j + \eta_k \xi_l \xi_m \eta_j + \eta_k \xi_l \eta_m \xi_j + \eta_k \eta_l \xi_m \xi_j \equiv J(\xi, \eta)$ , it is the following term that is possible not to vanish in  $\bar{H}_4$  out of the first term in (6):

$$\frac{-\alpha}{16N} \sum_{k+l+m+j=2(n+1)} \frac{\beta_k \beta_l \beta_m \beta_j - 6\alpha_k \alpha_l \beta_m \beta_j + \alpha_k \alpha_l \alpha_m \alpha_j}{\sqrt{\lambda_k \lambda_l \lambda_m \lambda_j}} J(\xi, \eta) = \\ = \frac{-\alpha}{16N} \sum \frac{\beta_k \beta_l \beta_m \beta_j - 6\alpha_k \alpha_l \beta_m \beta_j + \alpha_k \alpha_l \alpha_m \alpha_j}{\sqrt{\lambda_k \lambda_l \lambda_m \lambda_j}} \cdot \\ \cdot (\xi_k \xi_l \eta_m \eta_j + 4\xi_k \eta_l \xi_m \eta_j + \eta_k \eta_l \xi_m \xi_j).$$

If we choose the terms of the forms  $C \xi_k \eta_l \xi_m \eta_j$  from this, we arrive at the following:

\* it is mentioned in the last part of the paper

$$(8) \quad \frac{-\alpha}{16N} \left\{ 12 \sum_{k+l=n+1} \xi_k \eta_k \xi_l \eta_l (\beta_k^2 \beta_l^2 - 4\alpha_k \alpha_l \beta_k \beta_l - \alpha_k^2 \beta_l^2 - \alpha_l^2 \beta_k^2 + \right. \\ \left. + \alpha_k^2 \alpha_l^2) / \lambda_k \lambda_l - 6 \sum_{k=1}^n \delta_{n+1-k}^k (\xi_k \eta_k)^2 (\beta_k^4 - 6\alpha_k^2 \beta_k^2 + \alpha_k^4) / \lambda_k^2 \right\},$$

where  $\delta_i^k$  is Kronecker's delta. Since in the second and third terms in (6) the summation is such that  $k+l+m=j$ ,  $k+l+m=j+2(n+1)$  and  $k, l, m, j=1, 2, \dots, n$ , they do not contain the terms of the forms  $C \xi_k \eta_k \xi_l \eta_l$ . From the fourth term we may choose the following:

$$(9) \quad \frac{-\alpha}{16N} \left\{ 24 \sum_{k,l=1}^n \xi_k \eta_k \xi_l \eta_l (\beta_k^2 \beta_l^2 + \beta_k^2 \alpha_l^2 + \alpha_k^2 \beta_l^2 + \alpha_k^2 \alpha_l^2) / \lambda_k \lambda_l - \right. \\ \left. - 6 \sum_{k=1}^n (\xi_k \eta_k)^2 (\beta_k^4 + 2\beta_k^2 \alpha_k^2 + \alpha_k^4) / \lambda_k^2 \right\}.$$

Then by (8) and (9) we obtain the explicit expression of  $H_i$ .

$$\begin{aligned} H_i &= \frac{-3\alpha}{8N} \left\{ 2 \sum_{k+l=n+1} \bar{p}_k \bar{q}_k \bar{p}_l \bar{q}_l (\beta_k^2 \beta_l^2 - 4\alpha_k \alpha_l \beta_k \beta_l - \alpha_k^2 \beta_l^2 - \right. \\ &\quad \left. - \alpha_l^2 \beta_k^2 + \alpha_k^2 \alpha_l^2) / \lambda_k \lambda_l + 4 \sum_{k,l=1}^n \bar{p}_k \bar{q}_k \bar{p}_l \bar{q}_l (\beta_k^2 \beta_l^2 + \beta_k^2 \alpha_l^2 + \right. \\ &\quad \left. + \alpha_k^2 \beta_l^2 + \alpha_k^2 \alpha_l^2) / \lambda_k \lambda_l - \sum_{k=1}^n (\bar{p}_k \bar{q}_k)^2 (\beta_k^4 + 2\beta_k^2 \alpha_k^2 + \alpha_k^4 + \right. \\ &\quad \left. + \delta_{n+1-k}^k (\beta_k^4 - 6\alpha_k^2 \beta_k^2 + \alpha_k^4)) / \lambda_k^2 \right\} = \\ &= -\frac{3\alpha}{8N} \left\{ -2 \sum_{k+l=n+1} \lambda_k \lambda_l \bar{p}_k \bar{q}_k \bar{p}_l \bar{q}_l + 4 \sum_{k,l=1}^n \lambda_k \lambda_l \cdot \right. \\ &\quad \left. \cdot \bar{p}_k \bar{q}_k \bar{p}_l \bar{q}_l - \sum_{k=1}^n (1 - \delta_{n+1-k}^k) \lambda_k^2 (\bar{p}_k \bar{q}_k)^2 \right\} \\ &\equiv -\frac{3\alpha}{8N} \sum_{k,l=1}^n a_{kl} \lambda_k \lambda_l \bar{p}_k \bar{q}_k \bar{p}_l \bar{q}_l, \end{aligned}$$

where we use  $\beta_k = \sin kh$ ,  $\alpha_k = \cos kh - 1$ ,  $\lambda_k = \sqrt{-2\alpha_k}$ .

By the transformation  $\bar{p}_k = \frac{1-i}{2} (\bar{p}_k - i\bar{q}_k)$ ,  $\bar{q}_k = \frac{1-i}{2} (\bar{p}_k + i\bar{q}_k)$  we get

$$\begin{aligned} H(\bar{p}, \bar{q}) &= H(\bar{p}, \bar{q}) \Big|_{\bar{p}, \bar{q} \rightarrow \bar{p}, \bar{q}} = \frac{1}{2} \sum_{k=1}^n \lambda_k (\bar{p}_k^2 + \bar{q}_k^2) + \\ &\quad + \frac{3\alpha}{32N} \sum_{k,l=1}^n a_{kl} \lambda_k \lambda_l (\bar{p}_k^2 + \bar{q}_k^2) (\bar{p}_l^2 + \bar{q}_l^2) + \tilde{H}(\bar{p}, \bar{q}). \end{aligned}$$

Furthermore by the transformation using action-angle variables

$\bar{p}_k = \sqrt{2\tau_k} \cos Q_k$ ,  $\bar{q}_k = \sqrt{2\tau_k} \sin Q_k$ , we get the following:

$$(10) \quad H(\tau, Q) = \sum_{k=1}^n \lambda_k \tau_k + \frac{3\alpha}{8N} \sum_{k,l=1}^n a_{kl} \lambda_k \lambda_l \tau_k \tau_l + \tilde{H}(\tau, Q) \\ \equiv H_0(\tau) + \tilde{H}(\tau, Q),$$

where by virtue of the reduction by Birkhoff's transformation to this normal form there exists  $\varepsilon_0 > 0$  such that

$$(11) \quad \tilde{H}(\tau, Q) \text{ is analytic in the region } G = \{|\tau_j - \varepsilon_0| < \varepsilon_0, |I_m Q| < 1\} \text{ and} \\ \tilde{H} \text{ begins with at least the sixth degree term in } \bar{p}, \bar{q}, \text{ that is,}$$

$$(12) \quad |\tilde{H}(\tau, Q)| \leq C|\tau|^3 \text{ in } G.$$

We note that the motion by the canonical equation with the Hamiltonian  $H_0(\tau)$  is the following:

$$\dot{\tau}_k = -\partial H_0 / \partial Q_k = 0, \quad \dot{Q}_k = \partial H_0 / \partial \tau_k = \lambda_k + \frac{3\alpha}{4N} \sum_{l=1}^n a_{kl} \lambda_k \lambda_l \tau_l \equiv \omega_k,$$

that is,  $\tau = (\tau_1(t), \dots, \tau_n(t)) = (\tau_1(0), \dots, \tau_n(0))$  is an invariant torus. When  $\omega = (\omega_1, \dots, \omega_n)$  is rationally independent, the motion is conditionally periodic and  $\tau(t)$ ,  $Q(t)$  fills the torus  $\tau = \tau(0)$  everywhere densely.

#### 4. Results by virtue of Kolmogorov-Arnol'd-Moser's theorem

We remember a theorem of Kolmogorov-Arnol'd-Moser in dynamical systems, which concerns the motion near the equilibrium state in the theory of oscillations. It may be described as follows;

The motion is described by the canonical equation

$$(13) \quad \dot{p}_j = -\partial H / \partial q_j, \quad \dot{q}_j = \partial H / \partial p_j, \quad j = 1, 2, \dots, n,$$

where the Hamiltonian is assumed to be

$$H = H_0(p, q) + H_1(p, q),$$

where

$$(14) \quad H_0 = \sum_{j=1}^n \lambda_j \tau_j + \sum_{j,k=1}^n \lambda_{jk} \tau_j \tau_k, \quad 2\tau_j = p_j^2 + q_j^2,$$

$\lambda_j, \lambda_{jk} = \lambda_{jk}$  are constants,  $H_1(p, q)$  is analytic with respect to  $p, q$  in the domain  $G = \{|\tau_j - \varepsilon_0| < \varepsilon_0, j = 1, 2, \dots, n\}$ , and it satisfies

$$(15) \quad |H_1| \leq C|\tau|^{5/2} \quad \text{in } G.$$

If the condition

$$(16) \quad \det(2\lambda_{jk}) = \det(\partial^2 H_0 / \partial \tau_j \partial \tau_k) \neq 0 \quad \text{in } G$$

is valid, then for any  $\kappa > 0$  it is possible to find  $\varepsilon > 0$  ( $\varepsilon_0 > \varepsilon$ ) such that: I. The domain  $G_\varepsilon = \{|\tau_j - \varepsilon| < \varepsilon\}$  consists of two sets  $F_\varepsilon$  and  $f_\varepsilon$ , one of which  $F_\varepsilon$  is invariant with respect to the motions of (13) and the other  $f_\varepsilon$  is small:  $\text{mes } f_\varepsilon < \kappa \text{ mes } F_\varepsilon$ , where  $\text{mes}$  denotes the ordinary Lebesgue measure. II.  $F_\varepsilon$  consists of invariant  $n$ -dimensional analytic tori  $T_\omega$  given by the parametrically represented equations

$$\begin{aligned} p_j &= \sqrt{2(\tau_j^\omega + f_j^\omega(Q))} \cos(Q_j + g_j^\omega(Q)) \\ q_j &= \sqrt{2(\tau_j^\omega + f_j^\omega(Q))} \sin(Q_j + g_j^\omega(Q)), \end{aligned}$$

where  $f_j^\omega(Q_k + 2\pi) = f_j^\omega(Q_k)$ ,  $g_j^\omega(Q_k + 2\pi) = g_j^\omega(Q_k)$ ,  $Q = (Q_1, \dots, Q_n)$

is angular parameter and  $\tau^\omega = (\tau_1^\omega, \dots, \tau_n^\omega)$  is constant depending on the number of the torus  $\omega$ . III. The invariant tori  $T_\omega$  differ little from the tori  $\tau = \tau^\omega = \text{constant}$ , i.e.,  $|f_j^\omega(Q)|, |g_j^\omega(Q)| < \kappa\varepsilon$ . IV. The motion determined by (13) on the torus  $T_\omega$  is conditionally periodic with  $n$ -frequencies  $\omega$ ;  $\dot{Q} = \omega = \partial H_0 / \partial \tau^\omega$ ,  $\dot{\tau} = 0$ .

In order to apply the above theorem to our case it remains only to verify that the condition (16) holds. From (10) and (14) we get the following:

$$\lambda_{jk} = \frac{3\alpha}{8N} a_{jk} \lambda_j \lambda_k, \quad j, k = 1, \dots, n,$$

where  $a_{jk} = 4 - 2\delta_{n+1-k}^j - \delta_k^j + \delta_k^j \delta_{n+1-k}^j$ ,  
 $\lambda_j = \sqrt{2(1 - \cos jh)}$ ,  $h = \pi/N$ .

Thus  $\det(2\lambda_{jk}) = \det\left(\frac{3\alpha}{4N} \lambda_j \lambda_k a_{jk}\right) = \left(\frac{3\alpha}{4N}\right)^n \prod_{j=1}^n \lambda_j^2 \det(a_{jk})$ .

After calculation we obtain the value  $f(n)$  of the determinant of  $(a_{jk})$ :

If  $n = 2m$  ( $m = 1, 2, \dots$ ), then  $f(n) = (-3)^{m-1}(8m-3)$ .

If  $n = 2m-1$  ( $m = 2, 3, \dots$ ), then  $f(n) = \frac{1}{2}(f(m) - f(m-1)) =$   
 $= -2(-3)^{m-2}(8m-5)$ .

It follows from this that the condition (16) is satisfied and that the conclusion of the theorem is valid, that is,

*If  $n$ -frequencies of the linear system  $\lambda_j$  are incommensurable in the above-mentioned sense, then we may conclude that the large part of the oscillations starting from initial data sufficiently near the origin of the phase space of the system (2) is a conditionally periodic motion, or it is a "recurrence" phenomenon.*

At last we note a result on the incommensurability of  $\lambda_j = 2 \sin(j\pi/2N)$  ( $j = 1, 2, \dots, n = N-1$ ), which was announced by Izumi (10). If  $N = 2^m$  ( $m = 1, 2,$



.....) or  $N$  is a prime number, then  $\lambda_j$  ( $j=1, \dots, n$ ) is rationally independent, i.e.,  $\sum_{j=1}^n k_j \lambda_j \neq 0$  for integers  $k_j$  and  $\sum_{j=1}^n |k_j| \neq 0$ . This contains the case of Fermi, Pasta and Ulam's experiments. If  $N$  is the other natural number, then  $\lambda_j$  ( $j=1, \dots, n$ ) is rationally dependent. Therefore in the latter case a further consideration is needed for the justification of the incommensurability of  $\lambda_j$  assumed in the above proposition.

### Acknowledgement

The author wishes to express his deep gratitude to Professor Masaya Yamaguti for valuable help and suggestions.

### References

- 1) E. Fermi, J. Pasta and S. Ulam: "Studies of Nonlinear Problems I", Los Alamos Report No. 1940, 1955 (unpublished), contained in the book "E. Fermi, Collected Papers, vol. 2 (1977-1988)".
- 2) A. Kolmogorov: "On the Conservation of Conditionally Periodic Motions for a Small Change in the Hamiltonian Function", Dok. Acad. Nauk SSSR., 98 (1954) 4, 527-530, or V. Arnol'd, "Proof of a Theorem of A. Kolmogorov on the Conservation of Conditionally Periodic Motions under Small Perturbation of the Hamiltonian Function" Uspekhi Mat. Nauk, 18 (1963) 5, 13-39, (English translation: Russ. Math. Surv. 18 (1963) 5, 9-36).
- 3) V. Arnol'd: "Small Denominators and Stability Problems in Classical and Celestial Mechanics", Uspekhi Mat. Nauk, 18 (1963) 6, 81-192, (English translation; Russ. Math. Surv. 18 (1963) 6, 85-191).
- 4) J. Moser: "Lectures on Hamiltonian Systems", Amer. Math. Soc., 1968.
- 5) G. Birkhoff: "Dynamical Systems", Amer. Math. Soc., 1927, revised edition 1966.
- 6) F. Izrailev and B. Chirikov: "Statistical Properties of a Nonlinear String", Dok. Akad. Nauk, 166 (1966) 1, 57-59, (English translation; Sov. Phys. Dok. 11 (1966) 1, 30-32).
- 7) N. Ooyama, H. Hirooka and N. Saito: "Computer Studies on the Approach to Thermal Equilibrium in Coupled Anharmonic Oscillators, II, One-Dimensional Case." J. of the Phys. Soc. of Japan, 27 (1969) 4, 815-824.
- 8) G. Walker and J. Ford: "Amplitude Instability and Ergodic Behavior for Conservative Nonlinear Oscillator Systems", Phys. Rev. 188 (1969) 1, 416-432.
- 9) J. Ford and G. Lunsford: "Stochastic Behavior of Resonant Nearly Linear Oscillator Systems in the Limit of Zero Nonlinear Coupling", Phys. Rev. A, 1 (1970) 1, 59-70.
- 10) Shuzo Izumi, private communication; it is proved by an application of the theory of algebraic number fields to the roots of the equation  $x^{4N} - 1 = 0$ . Later it was communicated kindly by Professor J. Ford that the same result is contained in the thesis by P.C. Hemmer "Dynamic and Stochastic Types of Motion in the Linear Chain", Trondheim, 1959.